
 Check answers:  warm up #7-16 
-2π   -2π   -2π   -π   -π   0   0   0   π   π   2π   2π   2π     

 

3 3 3 3
                        

2 2 2 2 2 2 2 2

       
          

 

3 3 3 3
                            

2 2 2 2 2 2 2 2

       
 

 

7 5 3 3 5 7
                                

4 4 4 4 4 4 4 4

       
     

 
 
5.5 #4,6, 8-10, 43-48  
 use principal values 
      (see notes 6.4 and unit circle ws #1-50) 
 
Principal values are used so there is only one unique solution. 
          sinx, tanx  Quadrants I and IV 
          cosx   Quadrants I and II 
 
    CHECK ANSWERS (evens & odds included) 
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